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  (Subtangent)2 =  constant  (Subnormal). 
  (Subtangent)2  (Subnormal). 
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 Clearly its intercepts on the axes are xa  and ya . 

 Sum of the intercepts =   aaayxa  . . 
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34. (a) Given 26 xxy          .....(i)     
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  Put the value of x in (i), we get 8y  
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37. (b) Curve xyeyx   
  Differentiating with respect to x  
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  This hold for 1x , 0y . 

38. (b) We have 1)()( xgxf  

 Differentiating with respect to x, we get  
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 Differentiating (i) w.r.t. x, we get 
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 Differentiating (ii) w.r.t. x, we get  
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42. (a) Given curve qpxy  32    …..(i) 

 Differentiate with respect to x, 23.2 px
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 For given line, slope of tangent 4  

 42  p   2p  

 From equation (i),  q 829   7q . 
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